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05 S& -0 -t3egs243 120,720 113,510 7,210
Oos&+4< 200,000 »34E «12& 81,600
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AE2E FOMH g2 st 109,626 105, 130 4,496
FOME 2gUHas 109,626 105, 130 4,496
XXz 2HEX 10,485 11,125 A 640
201 fEt2E | 10,485 11,125 A 640
01 AtR 2t 2l | 10,485 11,125 A 640
OFQUXXa T2 08 A=Y  7,945,000& 7,945
OF2URNXAE 3AFA =& 2,100,000 2,100
Os2s HMH 440,000& 440
s -2 g5 N2 77,860 74,330 3,530
301 LetE = 77,860 74,330 3,530
068801 -t¥ES2d= 77,860 74,330 3,530
Oos&+4< 200,000 »22H «12& 52,800
Oos¥YM= 200, 000& »22& »23 8,800
OS&ao #4+2 20,0003 228 »23| 122 10,560
ogtaeEas 25,0003 x114& »23 5,700
BMEX R RE2el 15,755 15,755 0
201 fEt2E | 15,755 15,755 0
01 At2 2t 2l bl 2,730 2,730 0
O&F=J| &gxt& 40,0003 =2CH x12& 960
ORoHH =2 1,770,000& 1,770
02 S3=29Hl 13,025 13,025 0
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=83 Fa 200,000& 200
d - I 8 300,000 300
oxtg !X 2,200,000& 2,200
OFAMN HgAHIY| 1,500, 000& 1,500
OFAL 2= RAXl 1,836,000& 1,836
OFA HIl2 6,000,000& 6,000
OBM & -otx=kx 620,000 620
OF AL 23 & 369,000 369
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201 L2 | 3,076 3,420 £344
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OBl&AMA H= 486,000 486
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Odiold=zed &Y 765,000 765
O=AIIEYH 855,000 855
OomAEYH 430,000& 430
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O XXz T2 HA 8,960,000 8,960
OFLUXX&3 3o &A 2,430,000& 2,430
o222 M 450,000& 450
s -8y g3 N 67,220 67,220 0
301 et a3z 67,220 67,220 0
05 8% -0 -tHESEY 67,220 67,220 0
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OsHaNH= 200,000& x19Y x23| 7,600
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EAMRA & e 16,397 23,522 ANT,125
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OR2FH ==& 1,800,000 1,800
02 =24l 13,597 13,322 275
OF At 22 610
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SY3 Fa 110,000& 110
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401 AIEHIZL 20 1,000 1,300 A 300
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OdoIMESH EE 540,000& 540
OdiolMEZeH EU 765,000& 765
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N = 0l & At & M A

20188 &= =204 LBt H UHE 1S ~ 2E2S
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B OIS FOIME JIBYs
S FOHEH SHEWHASG (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
CtUi1s 268,687 262,039 6,648
CtOils FQHE J|8t23 238,002 229,411 8,591
FOHEH 2 WA G 238,002 229,411 8,591
FOIXXE SHEX 13,540 14,160 N 620
201 et A | 12,190 12,660 N470
01 AFR2t2l Yl 12,190 12,660 N470
OFUXXg T2 =S 8,960,000& 8,960
OFUXXAXZ 3o & & 2,430,000& 2,430
OsEsE H& 800,000& 800
301 dBtE A= 1,350 1,500 A 150
09 HAIAHI EA = 1,350 1,500 A 150
O2=0l st=223 XMEH 1,350,000& 1,350
s - HtE s & 187,160 187, 160 0
301 dEtEAZ 187,160 187, 160 0
0BCSHE -0 -HHEES 187,160 187, 160 0
Os&+Y 200,000 x52H = 12& 124,800
Os&ANZ 200, 0003 x52H *23| 20,800
O8&3 e B&Y 20,000& *23| x52H x 12& 24,960
oerEgAZ 25,0003 *3324 *23| 16,600
HAMSA L It 31,303 21,481 9,822
201 LEt2 Y| 15,947 15,481 466
01 AFR2t2ldl 1,477 1,611 N 134
ORogdE=xT 1,477,000& 1,477
02 3524l 14,470 13,870 600
OFE AL 300
X HA 150, 000& 150
=43 HFA 150, 000& 150
Oxg SA(EINX = 4,000,000 4,000
OFAMN HZE X 1,290,000& 1,290
OFAMN HMIIz 7,930,000 7,930
OFAN & o2 950,000& 950
401 Al HI YL 2 0HHI 15,356 0 15,356
01 A& HI 15,356 0 15,356
OF AL 2=Z Al 15,356,000& 15,356
ARET 2Y9 5,499 6,110 AB11
201 LEt2 Y| 5,499 6,110 AB611
01 AFR2t2ldl 5,499 6,110 AB11
OoIAMA HE 486,000& 486
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